
Ste&tics 300
Quiz #13

. -  I  l .
\ - - l  

-L, f l -Name, __:)9J.Y_!:Y_!J__

For hypothesis t€st prottlems, you must provido all four parb of tlte traditional approach.
The tost stalistic must show the 3ymbolic formula and the formula with ,elevant values in plac€.

(Spoints:Sminules)
1. A gtoup of 25 men with the same high cholesterol level participated in a clinical test of a new

medication to lovrer cholosterol levels in blood. Use the data b€low to test fre claim that
the new medication will deca€ase cholesterol by at least 10 poinb on average for lh€
population ot all |hen who have similar high cholesterol levels. (Use o = 0 05 and assume
that the distribution of decreases in cholesterol is belLshaped.)

D€cr6ases in cholestorol

X = 8.34
a = 12-11
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Quiz #13

(8 poants : 10 minutes)
2. A manulacturing company must Produce 10,000 items of the same kind so they are

v.ry similar lo each other. The width of all 10,000 items must avemgo betriteen 1000 and
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lO(N with a standard devialion of 2 or leqr. use th€ dala on a sample of tho first 50 items
to test the production manager's claim that the goal for variability i3 being satisfled.
(Considerthe sample to be "random" and make the significance level0 10 ioryour test )
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